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EDUCATION — HONOURS
Paper : CC-12
(Statistics in Education)
(Units : 1 to 3)
Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.

Answer any four questions :
(a) Write the uses of the different measures of central tendency.

(b) Calculate mean, median and mode from the following scores :

13,5,9,5,3,11, 16, 15,5, 8
(c) Write three important characteristics and two uses of Normal Probability Curve.

(d) Calculate Py, and PR of score 50 from the following distribution :
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(i) Ina distribution, the Mean is 90 and the Standard Deviation is 10, what will he 7 score of the
score 947

(i Following are the data for scores obtained by 100 students in two subjects (X and Y

. ) .
Y Y =280.3 X =284, )y - 60,3 Y7 =117and Y XY - 438; Calculate the co-efficient

of correlation. 2+3

Answer any three questions :

(a)

(b)

(©)

(i) Compute Mean and Standard Deviation of the following frequency distribution :

Scores | 31-35 | 36-40 | 41-45 | 46-50 | 51-55 | 56-60 | 61-65 ;50
f 2 5 19 1 8 3 2

(if) How will the Mean and Standard Deviation change if 5 is added to each score in a distribution?

(3+5)+2
(i) Write the uses of Ogive. 3
(ii) Draw a histogram from the following frequency distribution : 3

Scores | 11-20 | 21-30 | 31-40 | 41-50 | 51-60 | 61-70 71—@

S 20 19 60 42 24 18 16|

Or,
(For Visually Challenged Students only)

(i) What is Histogram? Write its uses. 2+3

(i) What kind of Skewness is expected in each of the following situations?
(1) When the scores of majority of students are less than the mean.
(2) When the questions in the examination are very easy.

(ii) Calculate Skewness from the following frequency distribution and add your comment :
2+(7+1)

Scores | 16—20 | 21-25 | 26-30 | 31-35 | 36-40 | 41-45 | 4650
f 2 0 9 16 12 7 4

(i) Write three uses of correlation.

(ii) Determine the co-efficient of correlation from the following data by Rank difference Method
and comment on the result. 3+(6+1)

Test-1 |50 |54(56[59|60|62|61|65 67 717174
Test-11[22]25(34|28]36[30[32]30]2834|36]40
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